USER MANUAL
" ' ‘ ’ NOCIBHUK KOPUCTYBAYA
PYKOBOLCTBO MOSIb3OBATENS

PATON Universal Cart

S/N:

PATON INTERNATIONAL @ c E EH[



FPATON

UKRAINE (YKPAIHCbKA)

Bizok YHiBepcanbHui PATON
I'Ipl/l3Ha‘-ieHl/IlZ Aana KOMMEeKTyBaHHA
MO6iNbHOrO 3BapiloBa/ibHOrO MOCTYy Ta
CyMiCHUIN 3 OyAb-AKMM  iHBEPTOPHUM
3BaptoBanbHUM obnagHaHHsM PATON.
YHikanbHa  KOHCTPyKLiA Ta  AKicHi
maTepianu, Wo BUKOPUCTOBYIOTLCA MpU
BMPOGHMLTBI, 3abe3neuyloTb  BUCOKY
MiLHICTb Ta HagiiHicTe Bi3ka. [pu
MakcnMManbHOMy 3aBaHTa)KeHHi, TPU
noAuui AalTb MOXIMBICTb PO3MICTUTH
pi3Hi eNemMeHTH 3BapOBa/IbHOro
obnaZHaHHA Ta akcecyapu B HanbinbL
3pyyHin ansa 3BaptoBa/ibHUKA
KOMMOHOBLi. TakoX Ha Bi3Ky € okpeme
micue A5 6anoHy i3 3aXMCHUM rasom.

BUPOBHUK:

TOB «MATOH IHTEPHELLUH/»
03045, YkpaiHa, m. Kuis,

By/1. HoBonuporiscbka, 66

RUSSIAN (PYCCKUIA)

Tenexka YHuBepcanbHan PATON
npejHasHayeHa AAs  KOMMJieKTauuu
MOGW/ILHOTO ~ CBApOYHOrO  MoCTa W
coBMeCTUMa C /obbIM  MHBEPTOPHbLIM
cBapoyHbiM obopysoBaHvem PATON.
YHuKanbHas KOHCTPyKL 1A "
ncnonb3lyemole KayeCTBeHHble
MaTepuansbl (CTanb 2 MM) obecneunsaeT

TeNexKe  BbICOKYIO — MPOYHOCTb U
HaZeXHOCTb. B MaKCMManbHOM
Harpyske, TpuM MO/KW  MO3BOASIOT
pa3mecTuTb pasHble 3/1eMeHTbI
CBapOYHOro obopygoBaHus "
akceccyapbl B Haubonee yao6Hon ans
cBapLimka KOMMOHOBKeE. Takxe

NpeAycMOTPeH OTAEe/bHbIM OTCeK Mnog,
6a/1/10H C 3aLMTHLIM ra3oMm.

NPOU3BOAUTE/b:

000 «MATOH MHTEPHELUH»
03045, YKpauHa, r. Kues,

yn. Hosonuporosckas, 66

ENGLISH

The PATON Universal Cart is designed
for equipping a mobile welding station
and is compatible with any PATON
inverter welding equipment. Its unique
design and high-quality materials (2 mm
steel) ensure exceptional strength and
reliability. With a maximum load
capacity, the three shelves provide
ample space to organize various welding
equipment and accessories in the most
convenient arrangement for the welder.
Additionally, there is a dedicated
compartment for a protective gas
cylinder.

PRODUCED:

PATON INTERNATIONAL

66, Novopyrohivska Str., Kyiv, Ukraine,
03045

TEXHIYHI XAPAKTEPUCTUKWN | TEXHUYECKUE XAPAKTEPUCTUKW | SPECIFICATIONS

MNapameTtpwu / MapameTpsbl [ Parameter 3HaueHHs [ 3HaveHue | Value
"abaputu [ Fabapwutsl | Dimensions, mm 900X525X1100
Maca / Macca [ Weight, kg 42
Marepian / MaTepwan | Material Steel 2 mm
Kinbkictb nonnyok / Konnuectso nosok / Quantity of shelves 3




8 wr./pcs

1wr./pcs

1wT./pcs 1 wr./pcs 1wT./pcs
6 7 9 \ 10
1 wr./pcs 2uwr./pcs 1 wT./pcs 2 wr./pcs 2wr./pcs
1,1 ) 12 Koneco 13 y 1 16 17
i Col”
/ @_ ® { ©
Rotating Koneco laika LLlan6a laika IBUHT
wheel  125mm| Wheel 200 mm. Nut M16 Shim M16 Nut M6 Screw M6x16
2 wr./pcs 2 wr./pcs 2 wr./pcs 2 wr./pcs 4 wr./pcs 60 wr./pcs 64 wrT./pcs
18 Naxuor
2
. — 4
WaiiGa S—
Shim 8x16 Chain













1




